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∫
𝒑𝒙ା𝒒

𝒂𝒙𝟐ା𝒃𝒙ା𝒄
𝒅𝒙   ቂ∫

𝑳

𝑸
𝒅𝒙ቃ   

 

 

∫
𝒑𝒙ା𝒒

ඥ𝒂𝒙𝟐ା𝒃𝒙ା𝒄
𝒅𝒙   ൤∫

𝑳

ඥ𝑸
𝒅𝒙൨  

 

 

∫(𝒑𝒙 + 𝒒) √𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄 𝒅𝒙   ൣ∫ 𝑳ඥ𝑸𝒅𝒙൧  

 

 

∫
𝟏

𝒑𝒙ା𝒒ඥ𝒂𝒙𝟐ା𝒃𝒙ା𝒄
𝒅𝒙   ൤∫

𝟏

𝑳ඥ𝑸
𝒅𝒙൨  

Working rule 
𝑳 = 𝑨𝑸ᇱ + 𝑩  

Working rule 
𝑳 = 𝑨𝑸ᇱ + 𝑩  

Working rule 
𝑳 = 𝑨𝑸ᇱ + 𝑩  

Working rule 

𝑳 =
𝟏

𝒕
  

 

∫
𝒇ᇱ(𝒙)

𝒇(𝒙)
𝒅𝒙 = 𝐥𝐨𝐠|𝒇(𝒙)| + 𝒄   

 

∫
𝒇ᇱ(𝒙)

ඥ𝒇(𝒙)
𝒅𝒙 = 𝟐ඥ𝒇(𝒙) + 𝒄  

 

∫ 𝒇′(𝒙)ඥ𝒇(𝒙) 𝒅𝒙 =
൫𝒇(𝒙)൯

𝟑
𝟐

𝟑

𝟐

𝒄   

 

 

𝒍 =
𝟏

𝒕
඀ ൝

𝒕 =?
𝒙 =?

𝒅𝒙 =?
 

 

∫
𝟏

𝒙𝟐ା𝒂𝟐
𝒅𝒙 =

𝟏

𝒂
𝐭𝐚𝐧ି𝟏 ቀ

𝒙

𝒂
ቁ+c  

 
 

 

∫
𝟏

ඥ𝒙𝟐ା𝒂𝟐
𝒅𝒙 = 𝐬𝐢𝐧𝐡ି𝟏 ቀ

𝒙

𝒂
ቁ+c  

 

∫
𝟏

ඥ𝒂𝟐ି𝒙𝟐
𝒅𝒙 = 𝐬𝐢𝐧ି𝟏 ቀ

𝒙

𝒂
ቁ+c  

 

 

∫ √𝒙𝟐 + 𝒂𝟐𝒅𝒙 =
𝒙

𝟐
√𝒙𝟐 + 𝒂𝟐 +

𝒂𝟐

𝟐
 𝐬𝐢𝐧𝐡ି𝟏 ቀ

𝒙

𝒂
ቁ  +c   

 

∫ √𝒂𝟐 − 𝒙𝟐𝒅𝒙 =
𝒙

𝟐
√𝒂𝟐 − 𝒙𝟐 +

𝒂𝟐

𝟐
 𝐬𝐢𝐧ି𝟏 ቀ

𝒙

𝒂
ቁ  +c  

 

 
 
 

∫
𝟏

√𝒂𝒙ା𝒃
𝒅𝒙 = (𝟐)

√𝒂𝒙ା𝒃

𝒂
+ 𝒄   

 

∫
𝒙ା𝟏

𝒙𝟐ା𝟑𝒙ା𝟏𝟐
𝒅𝒙   ቂ∫

𝑳

𝑸
𝒅𝒙ቃ     

 
 

 

∫
𝟐𝒙ା𝟓

ඥ𝒙𝟐ି𝟐𝒙ା𝟏𝟎
𝒅𝒙   ൤∫

𝑳

ඥ𝑸
𝒅𝒙൨  

∫
𝒙ା𝟏

ඥ𝒙𝟐ି𝒙ା𝟏
𝒅𝒙      

∫
√𝟓ି𝒙

√𝒙ି𝟐
𝒅𝒙       

 

∫(𝟔𝒙 + 𝟓) ඥ𝟔 − 𝟐𝒙𝟐 + 𝒙 𝒅𝒙   ൣ∫ 𝑳ඥ𝑸𝒅𝒙൧   

 

∫(𝟑𝒙 − 𝟐) ඥ𝟐𝒙𝟐 − 𝒙 + 𝟏 𝒅𝒙       
 

∫ 𝒙 ඥ𝟏 + 𝒙 − 𝒙𝟐 𝒅𝒙     

 
 

 

∫
𝟏

(𝟏ା𝒙)ඥ𝟑ା𝟐𝒙ି𝒙𝟐
𝒅𝒙   ൤∫

𝟏

𝑳ඥ𝑸
𝒅𝒙൨  

∫
𝟏

(𝟏ି𝒙)ඥ𝟑ି𝟐𝒙ି𝒙𝟐
𝒅𝒙  

∫
𝟏

(𝒙ା𝟏)ඥ𝟐𝒙𝟐ା𝟑𝒙ା𝟏
𝒅𝒙  

 
 
 

 

 


